Maths Week 14

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.
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4a. The fable shows how many pupils got on the bus at the fist two stops. The number
of people increase at each stop by four each fime. There are 8 stops in fofal.

Busstop | 1 [ 2|3 |a|s 6|78

Number of pupils | 3 | 7

Complete the table and answer the questions.

. How many children will get on at bus stop number seven?
b. How many were on the bus after stop number five?

g

sa. Lola writes the following statements using the information in the fable, spot three
mistakes she has made.

There are 120 children in Key Stage 1 and 241 children in Key Stage 2.

There is an odd number of boys in both Key Stages. There are 345 children in fotal.
Totalin
Key Stage 1 | Key Stage2 |  Key
stage
Boys o 127 il
Girls 5 14 178
sa.Sally creates some questions using the table below.
How many children like
coffee? Cisps | Coffee | Tea |Chocolate
How many adults take 3ugar | cpigren| 19 12 2 30
with their fea?
Did more children or adults | agus | 20 " 5 5
like crisps?

Which of sally’s questions cannot be answered using the fable? Explain why not.
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4b. The fable shows how many bins get collected on the recycling round. The number
of bins increase on each street by three each fime. There are  streets in fofal.

Busstop | 1 | 2|3 |a|s|6|7 |89

Number of bins | 4 | 7

Complete the table and answer the questions.

. How many bins will be collected in the eighth sireet?
b. How many bins had been collected by the fime they had been fo five sireets?

g

sb. Danny writes the following statements using the information in the table, spot three
mistakes he has made.

There are 150 guests staying in the Hofel Argan and half as many in Hotel Fleur.
There is an even number of French guests in both hotels. There are more French guests
‘than German,

Totalin
French German Potel

Argan s 8 150

Fleur a2 33 80

v

&b. Ryan creates some questions using the table below.

How many chidren walk fo
school in fofal? = N\ D @

How many boys cometo _|Key Stage

school by carin key stage 17| 1 36 8 12 °
Did more children catch the | Key Stage 0 5% 3 2
bus or walk fo school? 2

ich of Ryan's questions cannot be answered using the fable? Explain why not.





